Sigma J Eng & Nat Sci 9 (1), 2018, 77-84



Publications Prepared for the 13th Algebraic Hyperstructures and its Applications Conferences AHA 2017



Research Article DERIVATIONS ON HYPERLATTICES

Şule AYAR ÖZBAL¹, Alev FIRAT*²

¹Yaşar University, Department of Mathematics, IZMIR; ORCID:0000-0001-5933-5858 ²Ege University, Department of Mathematics, IZMIR; ORCID:0000-0001-6927-4817

Received: 18.09.2017 Revised: 05.12.2017 Accepted: 16.04.2018

ABSTRACT

In this paper, we introduced the notion of derivations on hyperlattices and investigated some related properties. Also, we characterized the $Fix_d(L)$ by derivations.

Keywords: Lattices, hyperlattices, derivation, FixD.

1. INTRODUCTION

The theory on hyper algebras called also multi-algebras was introduced by French mathematician Marty [1]. In a classical algebraic structure, the composition of two elements is an element while in an algebraic hyperstructure that is the suitable generalization of classical algebraic structure the composition of two elements is a set. Hyper algebras has many applications to pure and applied mathematics and several papers and books have been written on this topics such as hypergroups [2], hyperrings [3], hyper BCI-algebras [4], and so on.

In algebra, the notion of derivations of rings plays an important role. The notion of derivations in rings were studied by Posner [5] and many results were given on derivations of prime rings. Later, the notion of derivations has been developed by many authors in many different directions like Jordan derivation, generalized derivation in rings and near-rings. Luca Ferrari [9] pursued and completed the problems initiated by Szasz. Then, X. L. Xin, T. Y. Li, and J. H. Lu [10] went on studying the notion of derivation on a lattice and investigated some of its properties. We introduced the notion of symmetric bi-derivations on lattices and derived some related properties [7].

In this paper, the derivation in hyperlattices is introduced and an example is given. Also, some basic properties of derivations are derived.

2. PRELIMINARIES

The composition of two elements is an element in a classical algebraic structure while in an algebraic hyperstructure the composition of two elements is a set. Let H be a non-empty set and

^{*} Corresponding Author: e-mail: alev.firat@ege.edu.tr, tel: (232) 311 17 48

 $\wp^*(H)$ be the set of all nonempty subsets of H. A binary hyperoperation on H is a map 0 from $H \times H$ to $\wp^*(H)$. The couple (H,o) is called a hypergroupoid. If A and B are nonempty subsets of H, then we denote

$$A \circ B = \bigcup_{a \in A, b \in B} a \circ b, \quad x \circ A = \{x\} \circ A \quad and \quad A \circ x = A \circ \{x\}$$

A hypergroupoid (H, o) is called a *semihypergoup* if for all x, y, z of H we have $(x \circ y) \circ z = x \circ (y \circ z)$, which means that

$$\bigcup_{u \in x \circ y} u \circ z = \bigcup_{v \in y \circ z} x \circ v$$

Definition 2.1 Let L be a nonempty set, $\lor : L \times L \to \wp^*(L)$ [$\land : L \times L \to \wp^*(L)$] be a hyperoperation, and $\land : L \times L \to L$ [$\lor : L \times L \to L$] be an operation. Then (L, \lor, \land) is a (join) meet hyperlattice if for all $x, y, z \in L$ the following conditons hold:

- (*hl*1) $x \in x \lor x$ and $x = x \land x$ ($x \in x \land x$ and $x = x \lor x$);
- (*hl*2) $x \lor (y \lor z) = (x \lor y) \lor z$ and $x \land (y \land z) = (x \land y) \land z$;
- (*hl*3) $x \lor y = y \lor x$ and $x \land y = y \land x$;
- (*hl*4) $x \in x \land (x \lor y) \cap x \lor (x \land y);$

L iscalled a strong join hyperlattice,

(hl5) If
$$y \in x \lor y$$
, then $x = x \land y$,

where for all nonempty subsets of X and Y of L,

$$X \lor Y = \bigcup_{x \in X, y \in Y} x \lor y \quad and \quad X \land Y = \{x \land y \mid x \in X, y \in Y\}.$$

Similarly, a strong meet hyperlattice can be defined. (L, \lor, \land) is called a hyperlattice if L is both join and meet hyperlattices. A hyperlattice (L, \lor, \land) is called a superlattice if for all $x, y \in L$, we have

 $x \in x \lor y$ if and only if $y \in x \land y$.

Let L be a join hyperlattice. For each $x, y \in L$, we define two relations on L as follows:

$$(x, y) \in \leq if \text{ and only if } x = x \land y,$$

 $(x, y) \in \prec if \text{ and only if } y \in x \lor y.$

Obviously, join and meet (strong) hyperlattice are dual of each other so definitions and properties which have been stated and proved for one of them are correct for one by suitable change.

 $(x, y) \in \leq$ is denoted by $x \leq y$ and $(x, y) \in \prec$ is denoted by $x \prec y$. Moreover, for all nonempty subsets X and Y of L, it is defined as $X \leq Y$ if there exists $x \in X$ and $y \in Y$ such that $x \leq y$ and $X \prec Y$ if for each $x \in X$ there exists $y \in Y$ such that $x \leq y$.

A zero of a hyperlattice (of each kind) L is an element 0 with $0 \le x$ for all $x \in L$. A *unit*, 1, satisfies $x \le 1$ for all $x \in L$. \le is an ordering relation on join strong hyperlattice, so it can be concluded that there are at most one zero and at most one unit. A *bounded* hyperlattice is one that has both 0 and 1. In a bounded join hyperlattice L, y is a complement of x if $x \land y = 0$ and $1 \in x \lor y$. The set of complement elements of x is denoted by x^c . If $card(x^c) = 1$, then the complement element of x is denoted by x^c too. A complement hyperlattice is a bounded hyperlattice if $0 \lor 0 = \{0\}$ for each $x \in L$ and it is called a *s-good hyperlattice* if $x \lor 0 = \{x\}$ for each $x \in L$. Clearly, every s-good hyperlattice is a good hyperlattice.

Proposition 2.2 [6] Let (L, \lor, \land) be a join strong hyperlattice. Then for all $x, y, z \in L$ and for all nonempty subsets X, Y and Z of L the following hold:

(i) $\leq = \prec$ and (L, \leq) is a poset. Also, if $\leq = \prec$ then we can replace hl4 by " $x \in x \land (x \lor y)$ ";

- (ii) $x \wedge y \leq x, y \leq x \vee y$;
- (iii) $X \subseteq (X \lor X) \cap (X \land Y);$
- (iv) $X \lor (Y \lor Z) = (X \lor Y) \lor Z$ and $X \land (Y \land Z) = (X \land Y) \land Z$;
- (v) If $x \in x \land Y$ then $Y \cap (x \lor Y) \neq \emptyset$;
- (vi) If $x \le y$, then $x \land z \le y \land z$;
- (vii) If $x, y \in x \lor y$, then x = y, so $x \lor y = L$ implies that x = y;
- (viii) $x \lor y = \{0\}$ implies that x = y = 0;
- (ix) $A \wedge 0 = \{0\};$
- (x) $0 \in 0 \lor A$ implies that $0 \in A$.

Definition 2.3 [6] A hyperlattice (L, \lor, \land) is said to be distributive if for all $x, y, z \in L$ we have $x \land (y \lor z) = (x \land y) \lor (x \land z)$. A distributive hyperlattice (L, \lor, \land) is said to be s-distributive if and only if $x \lor (y \land z) = (x \lor y) \land (x \lor z)$.

Proposition 2.4 [6] Let (L, \lor, \land) be a distributive join strong hyperlattice. Then for each $x, y, z \in L$ we have:

(i) *L* is a good hyperlattice and $y \in x \lor 0$ implies that $y \lor 0 \subseteq x \lor 0$;

(ii) If *L* is a distributive and $x \in y \lor y$, then $x \le y$;

(iii) If $y \le x$ and $z \le x$, then $y \lor z \prec x$. In particular, $0 \lor x \prec x$ and $x \lor x \prec x$. Further more, if L is complemented, then

(iv) If $1 \in x \lor z$ where $z \in y^c$, then $y \le x$.

As usual, a subhyperlattice of a hyperlattice L is a nonempty subset of L which is a strong join hyperlattice, that is, which is closed underhyperoperation \lor and operation \land as defined in L.

Example 2.1 [6] Let $L := \{0, x_1, x_2, 1\}$ be a set with the Cayley table;

$0 x_1$	x_2	1		
0 0	0	0		
		1		
0 0	x_2	<i>x</i> ₂		
0 x_1	x_2	1		
0	x_1	<i>x</i> ₂	1	
0 {0}	$\frac{x_1}{\{x_1\}}$	$\frac{x_2}{\{x_2\}}$	1 {1}	
{0}			{1}	
$\{0\}\$ $\{x_1\}$	$\{x_1\}$	${x_2}$ {1}	$\{1\}$ $\{x_2,1\}$	
	$ \begin{array}{ccc} 0 & 0 \\ 0 & x_1 \end{array} $	$\begin{array}{ccccccc} 0 & 0 & 0 \\ 0 & x_1 & 0 \end{array}$	0 0 0 0	$\begin{array}{cccccccccccccccccccccccccccccccccccc$

Then $(L, \lor, \land, 0, 1)$ is an s-good complemented distributive join strong hyperlattice.

3. DERIVATIONS ON HYPERLATTICES

Definition 3.1 Let *L* be a join hyperlattice. A map *d* is called a derivation of *L* if *d* satisfies $d(x \wedge y) \in (d(x) \wedge y) \vee (x \wedge d(y))$

for all $x, y \in L$.

Example 3.1 Let L be the join hyperlattice given in Example 2.1 and define a function d on L by

$$d(x) = \begin{cases} 0, & \text{if } x = 0, x_1, \\ x_2, & \text{if } x = x_2 \end{cases}$$

Then we can see that d is a derivation on L.

Proposition 3.2 Let *L* be a join hyperlattice with a unit 1 and *d* be the derivation on *L*. Then $d(x) \in d(x) \lor x \land d(1)$ for all $x \in L$.

Proof. Let X be an element in a join hyperlattice with a unit 1 and d be the derivation on L. Then

$$d(x) = d(x \wedge 1)$$

$$\in d(x) \wedge 1 \vee x \wedge d(1)$$

$$= d(x) \vee x \wedge d(1)$$
So $d(x) \in d(x) \vee x \wedge d(1)$. And also for $x = 1$

$$d(1) = d(1 \wedge 1)$$

$$\in d(1) \wedge 1 \vee 1 \wedge d(1)$$

$$= d(1) \vee d(1)$$

Therefore $d(1) \in d(1) \lor d(1)$.

Proposition 3.3 Let L be a join hyperlattice with a zero and d be the derivation on L. Then we $d(0) \in 0 \lor 0$.

Proof. Let 0 be the zero element in a join hyperlattice and d be the derivation on L. Then

$$d(0) = d(0 \land 0)$$

$$\in d(0) \land 0 \lor 0 \land d(0)$$

$$= 0 \lor 0$$

So $d(0) \in 0 \lor 0$.

Proposition 3.4 Let L be a join hyperlattice with a unit 1 and d be the derivation on L. Then the followings hold for all $x \in L$:

i) If $x \ge d(1)$ then $d(1) \prec d(x)$

ii) If $x \le d(1)$ then $x \prec d(x)$.

Proof. Let x be an element in a join hyperlattice with a unit 1 and d be the derivation on L.

i) Let $x \ge d(1)$ for an element $x \in L$.

 $x \ge d(1)$ if and only if $x \land d(1) = d(1)$. Therefore

$$d(x) \in d(x) \lor (x \land d(1))$$

= $d(x) \lor d(1)$

So $d(x) \in d(x) \lor d(1)$. Therefore $d(1) \prec d(x)$.

ii) Let $x \le d(1)$ for an element $x \in L$.

 $x \le d(1)$ if and only if $x \land d(1) = x$. Therefore

$$d(x) \in d(x) \lor (x \land d(1))$$

= $d(x) \lor x$

So $d(x) \in d(x) \lor x$. Therefore $x \prec d(x)$.

Proposition 3.5 Let L be a join hyperlattice and d be the derivation on L. Then for any $x, y \in L$

Ş. Ayar Özbal, A. Fırat / Sigma J Eng & Nat Sci 9 (1), 77-84, 2018

$$d(x) \in (d(x) \land (x \lor y)) \lor (x \land d(x \lor y))$$

Proof. Let L be a join hyperlattice and d be the derivation on L. Then we have By (hl4) we have $x \in x \land (x \lor y) \cap x \lor (x \land y)$ therefore $x \in x \land (x \lor y)$. Then

$$d(x) \in d(x \land (x \lor y))$$

= $(d(x) \land (x \lor y)) \lor (x \land d(x \lor y))$

Therefore $d(x) \in (d(x) \land (x \lor y)) \lor (x \land d(x \lor y))$.

Proposition 3.6 Let L be a join strong hyperlattice and d be the derivation on L. Then for any $x \in L$

$$d(x) \in (d(x) \land x) \lor (x \land d(x))$$

Proof. Let L be a join strong hyperlattice and d be the derivation on L and $x \in L$. Then

$$d(x) = d(x \land x) \in (d(x) \land x) \lor (x \land d(x))$$

= $(d(x) \land (d(x) \land x) \lor (d(x) \land x))$

Therefore

$$d(x) \in (d(x) \land x) \lor (x \land d(x))$$

If L is distributive and $d(x) \le d(x) \land x$ and also $d(x) = d(x) \land x$. Therefore $d(x) \le x$.

Proposition 3.7 Let *L* be a join strong hyperlattice and *d* be the derivation on *L*. If $y \le x$ and d(x) = x for any $x, y \in L$ then

$$d(y) \in y \lor (x \land d(y))$$

Proof. Let L be a join hyperlattice and d be the derivation on L and $x, y \in L$ and also assume that $y \leq x$ and d(x) = x. Then

$$d(y) = d(x \land y) \in (d(x) \land y) \lor (x \land d(y))$$
$$= (x \land y) \lor (x \land d(y))$$
$$= y \lor (x \land d(y))$$

Therefore

$$d(y) \in y \lor (x \land d(y))$$

Additionally, if L is distributive

$$d(y) \in y \lor (x \land (d(y) \land y))$$

= $y \lor ((x \land y) \land d(y))$
= $y \lor (y \land d(y))$
= $y \lor d(y)$

Therefore

$$d(y) \in y \lor d(y)$$

Definition 3.8 Let d be a derivation of a join hyperlattice L. We can define a set $Fix_d(L)$ by

$$Fix_d(L) := \{x \in L \mid d(x) \in \{x\}\}$$

Proposition 3.9 Let L be a join strong distributive hyperlattice and d be the derivation on L. Define $d^2(x) = d(d(x))$ for all $x \in L$. Then $d^2(x) \in Fix_d(L)$ for all $x \in L$. Proof. Let L be a join strong distributive hyperlattice and d be the derivation on L. Then

$$d^{2}(x) = d(d(x))$$

= $d(x \wedge d(x))$
= $\in (d(x) \wedge d(x)) \vee (x \wedge d^{2}(x))$
= $d(x) \vee (x \wedge d^{2}(x))$

Since

$$d(d(x)) \le d(x) \le x$$

We get

$$d(x) \lor (x \land d^{2}(x)) = d(x)$$

So $d(d(x)) = d^{2}(x) \in d(x)$, i.e $d^{2}(x) \in Fix_{d}(L)$

Definition 3.10 If $x \le y$ implies $d(x) \le d(y)$ for all $x, y \in L$ where d is a derivation of the a join hyperlattice L then d is called isotone derivation.

Proposition 3.11 Let *L* be a join strong distributive hyperlattice with a unit 1 and *d* be the derivation on *L*. If *d* is an isotone derivation then the following hold for all $x \in L$:

i) $d(x) \in x \wedge d(1)$

ii) $d(x) \lor d(y) = d(x \lor y)$

Proof. Let L be a join strong distributive hyperlattice with a unit 1 and d be the derivation on L and also let d be an isotone derivation. Then

i) Since d is isotone we have $d(x) \le d(1)$ and also $d(x) \le x$. Then we $d(x) \le x \land d(1)$. We have already known that

$$d(x) \in d(x) \lor x \land d(1)$$

= x \land d(1)

Then $d(x) \in x \wedge d(1)$.

ii) Since d is isotone then $d(x) = d(x \lor y)$ and $d(y) = d(x \lor y)$ then $d(x) \lor d(y) = d(x \lor y)$ for all $x, y \in L$.

Proposition 3.12 Let *L* be a join hyperlattice and *d* be the derivation on *L*. If *d* is the identity derivation then $d(x \lor y) \in (x \lor d(y)) \land (d(x) \lor y)$ for all $x, y \in L$. Proof. Let *d* be an identity derivation on a join hyperlattice *L* then

$$d(x \lor y) \in x \lor y$$

= $(x \lor y) \land (x \lor y)$
= $(x \lor d(y)) \land (d(x) \lor y)$
Therefore, $d(x \lor y) \in (x \lor d(y)) \land (d(x) \lor y)$

REFERENCES

- [1] F. Marty, *Surene generalization de la notion de group*, In eigth Congress Math., Scandinaves, Stockholm, (1934), 45-49.
- [2] J. James, *Transposition: Noncommutative Join Spaces*, Journal of Algebra, 187(1997),97-119.
- [3] R. Rosaria, *Hyperaffine planes over hyperrings*, Discrete Mathematics, 155,(1996),215-223.
- [4] X. L. Xin, *BCI-algebras*, Disccussion Mathematicae General Algebra and Applications, 26(2006),5-19.
- [5] E.C. Posner, *Derivations in prime rings*, Proc. Amer. Math. Soc. 8,(1957), 1093-1100.
- [6] S. Rasouli and B. Davvaz, *Lattices Derived from Hyperlattices*, Communivations in Algebra, 38:8, (2010), 2720-2737.
- [7] S. A. Ozbal, A. Firat (2010), Symmetric Bi-Derivations of Lattices. Ars Combinatoria, 97(4), 471-477.
- [8] G. Szasz, Derivations of Lattices, Acta Sci. Math. (Szeged) 37 (1975), 149-154.
- [9] L. Ferrari, On Derivations of Lattices, Pure Math. Appl. 12 (2001), no.4, 365-382.
- [10] X. L. Xin, T.Y. Li and J. H. Lu, On derivations of Lattices, Information Sciences 178, (2008) 307-316.